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As per Industrial Policy Resolution,
1956, reserved industries for public
sector are:

A 14
B) 15
€) 16
Dy, 17
o Liberalisationmeans :

(A) - Reducing number of industries
from17to 8

) (B) Liberéting the industry, trade

-and economy from unwanted

" restrictions
(C) Opening up of economy to the
~ world by attaining international
cdﬁjpetitivenessl |
(D) Free determination of interest
rates |

3. Which among the following is not

opened for private sector

participation ?

(A) Power Sector

(B) Telecommunication Sector
(C) Ed'u-cation Sector

(D) Railways |

The pre-liberalisation era of Indian
Economy was under the grip of :

| (A) Unemployment

(B) Undéruemployment
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(2)

o

(C) Fiscal Deficit
(D) - Unfavourable and alarming
balance of payment

Which among these is monopolistic
trade praclice ? ‘ '
(A) Unreasonably limiting
competition

(8) Manuf_actuﬁng only one product

. (C) Limiting technical development

(D} Selling only one product

A graph of a cumulative frequency
distribution is called :

(A) Frequency polygon

(B) Pie diagram

(C) Ogive

(D) HiStogram

- Laissez Faire policy is adopted in .

(A) Socialist Economic System

(B) Capitalist_ Economic'Sys'tem

(C) Mixed Economic System
(D) Communist Economic System

Which of the following is not the

objective of Competition Act, 2002 ?

(A} Prohibition of abuse of
dominant position

(B) Prohibition of restrictive frade
practices

(C) Prohibition of anti-competitive

 agreement

(D} Regulation of combinations
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if the amount claimed by consumer

9.
is Rs. 89 Lac, the: case under the
Consumer Protection Act shall be
filed with : |
(A) District Consumer Redressal
Forum
(B) State Consumer D_iSpute
' Redressal Commission
(C) National Consumer Dlspute
| Redressal Commlssmn
(D) Supreme Court |
10. Given : Closing Stock Rs. 53,400 ;
Cost of Goods Sold Rs. 75,000 ;
Gross Prcflt Rs. 3, 090 and
Purchases Rs. 82, 000 _
What is the amount of Opening
Stock ? a
(A) Rs. 46,400
(B) Rs.41,400
(C) Rs.'60,400
(D) Rs.55400
~11.  Which ratio explains that how much
the portion of earning is distributed
in the form of dividend ?
(A) Equity-Debt Ratio
(B) Pay-out Ratio
(C) Earning Yield Ratio
(D) Dividend-Debt Ratio -
QS ~ 9A/22

12.

13,

14,

15.

The total area of normal distribution
between average value & 1.96 of
standard deviation is :

(A) 95.45%

(B) 95%

(C) 99%

(D) 68.34%

Economlc life of an enterpnse is splnt
into the penodic 1nterva| asper:

(A) Money measurement concept
(B) Matching concept

(C) Going concern concept

(D) Accrual concept -

The Cash Flow Statement consists
of which of the follcwinq sections ‘?

A Operating and non operatmg

(B) " Current and non-current

(C) Operating, investing and
financing

(D) - Manufacturing, -trading and
_profitand loss. '

Which of the following equations
represents the Balance Sheet ?

C(A) Aéssets + Libilities =

" Shareholders’ equity
(B) Assets = Liabilities = -
Shareholders’ equity

(C) Assets = Liabilities -

Shareholders equity
(D) Assets LlablhfleS‘l
Shareholders’ equity

(Turn over)




16. Entfy made on both sides of cash

2

book is called :

(A) DoubleEntry
(B) Cornpound Entry |
(C) ContraEntry

(D) Mixed Entw

7. Accounting for Intangible Assets are

18.

related to:

A) AS-10

" (B) AS-12

(C) AS-24

(D) AS--26

ansignment stock will be recorded

in the balance sheet of consignor on
assetsideat:

(A) Invoice Value ..

- (B} Invoice value less stock reserve

18.

(C) lLowerthan cost price

(D) 10% lower than invoice value

Inthe book‘s‘of the :cqn_éi‘gnogr,_: the loss
on consignment busineés-will be
charged to:. . '

(A)  Consignes Account

(B) General Trading Account

(©) Genéf_al P/l. Account

(D) BankAccount

- QS — HA22

- 20.

21.

22.

23.

Pre-received income is deducted
from income i the current year's
P & L Account, the underlying

assumption being :

(A) Matching cost against revenue

(B) Conservatism

- (C) Realisation

(D) Consistency

Which of the following accounts is
not opened under Joint Venture

accounts ? _

(A) Joint Bank Account

(B) Other Pénner’s Account
(C) Stoqk Reserve Account

(D) JointVenture Account

Joint Venture is a
(A) Personal Account
(B) RealAccount
(C) Nominal Account

(D) Memorandum Account

Which of the foliowing books should

“be used to record purchase of goods

on account ?

(A) Cash Book
(B) ‘ Purchase Book
(C) Sales Book
(_D) Journal

Contd.




24,

25,

26,

27,

A Barlance Sheet shows bnly :

(A) Personal Accounts and
Nominal Accounts

(B) Real Accounts and Nominal

Accounts

(C) Personal Accounts and Real
Accetnts .

(D) Personal, Real and Nominal
Accounts

Capital Redemption Reserve
Account is available for;

(A) Redembtion of Redeemable

Preference Shares

(B) Redemption of Redeémable
Debentures

(C) Reorganisation of Share
Capital

(D) Issue of Bonus Shares

“Higher the ratio, the more favourable
itis” This does not applyto:

(A) Operating Ratio

(B) Operating Profit Ratio

(C) Stock Turnover Ratio

(D) ROI

X Ltd. forfeited 30 shares of Rs. 10

each fully ca_lled up for non payment

of allotment money of Rs. 3 per share

QS - 9A/22

28,

29,

and call money of Rs. 4 per share.
These shares are reissued for Rs, 8
per share fully paid. What is the
amount to be transferred to Capital

Reserve Account ?
"(A) Rs.300

(B) Rs.90
(C) Rs.60
(D) Rs. 30

A profit centre is a centre :

(A) Where the’ manager has the
responsibility of generating and
maximising profits

(BY Which is concerned with
garning an-adequaté Return on

Investment

(C) Both (A) and (B) above

(D) Which manéges cost

Fixed Cost is a cost :

(A) Which c!&anges in total in
proportion to changes in oﬂtput

(B) Whichis partly fixed and partly
variable in relation to output

(C) Which do not change in total

during a given period despite
changes in output

(D) Which remains same for each
unit of output

(Turn over)




30

A r*ompany makes a smgle product
. V___and incurs let,d costs of Rs. 30,000

) pu,rannum Varlab[e Cost per unit is

Rs. 6 and each unit sells for Rs. 15.
Annual sales demand is 7,000 units,
The break-even pointis ;

(A) . 2,.00_0_' units.

- B 3000 unﬁs

31.

32.

33.

(©) 4,000units

(D) 6,000 units

When PV Ratio is 25% and BEP s
R$. 50,000 then fixed cost will be :
(AJ Re. 1,00,000

B) Rs. 1,25,000

(€) Rs.2,00,000
.(D)x. R% ?o 000
“Pettod Costs are ; ,_
(A) - Variable Costs

(8) Fixed Costs
(C) "Prime Costs
(D)  Overhead Costs

In process costing, if an abnormal

loss arises, the Process Account is

generally :

(A) Debited with scrap value of
the abnormal loss units

(B) Debited with the full production
cost of the abnormal loss units

QS - 9A/22

34

35.

- (A) Dlstrsbutlon Serwce

(C) Credited with the scrap value
_ of the abﬁorrnal loss units

(D) Credited with the full production

cost of the abnormal loss units

Which of the following orqanisations
should NOT _be advised to use
service costmg ?

(B) Hospltal

(C) Maintenance division of a

manufacturing company

(D) Alightengineering company

In ‘make or buy’ decision, it is
profitable o buy from outside only
when the supplier's price is belowthe
firm’s own :

(A) Fixed Cost

(B) Variable Cost

(C) Total Cost

(D) Prime Cost

On an equity share of Rs. 10, the
company has called up Rs. 8 but only
Rs. 7 has been received by the

_company. The share capital account

should be credited by :
(A) Rs. 100

(B) Rs.8

(C) Rs.7

(D) Rs.2
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38,
** consideration of purchase of plant -

(A)

(B)

©

o

37. .Which of the following errors is
- revealed by Trial Balance ?

Wrdng amount entered in the
book of original entry

Wrong amount entered in the
ledger account

Complete omission of an entry
from the book of original entry

None of the above

Gross Profit Ratio is the Ratio of :

A)
(B)
(C)
(D)

Gross profit to net sales

Gross profit to net credit sales

Gross profit io net cash sales

‘Gross profit to gross sales

Issue of share capital in

(B)
(C)
(D)

*“and machinery results into :
Ay

Source of fund
Application of fund
Flowoffund

No flow of fund

40. Which of the following items is NOT

added to net profit for computing the

amount of funds from operations ?

(A)
(B)
(C)
(D)

L QS -~ 9A22

Depreciation on machinery
Profit on the sale of machinery
Goodwill written off -

L.oss on the sale of furniture

- 41, Which of the folllowing testis used to
test the significance of the coefficient
of association ?

(7)

®)
(B)
(©)
(D)

Z-test
t-test

F-test -

Chi-square test

42. The following frequency distribution

Is classified as :

(A)
B)
(©)

©)

X
12
17
18
20

21 9

Continuous distribution

@ N N M

Discrete distribution
Cumulative distribution
Non-cumutative distribution

43. Medianofthedata1,5,4,3,2is:

(A).

(B)

- (C)

(D)

1

5
3.
4

44. Standard Deviation of 5, 5,5, 5, 5, 5

is :
(A)
(B)

©) -

(D)

-~ (Turnover)




46.

47.

48.

QS - QA/22

~In- symmetric- distribution relation

" ‘among Mean, Medlan and Mode will

be: ’
(A)- Mean= Medran Mode
(B) Meanis greaterthan Medlan

(C) Medianis greater than Mode

,'(D) - Mode is I;esis'théi'n Mean

If correlation coefficient between two
variable is zero, then the variables
are: L

(A) Indeperndelnt
(B) De;:":errdent;l .
(C) Uncorrelated
(D) Controlled

In a Regressnon Lme Y oh X the

. variable Xis. known as:

(A) _lndependent\/ariable

(B) Dependent Variable
(C) Explanatory Variable

(D} Nominal Variable

of ;

(A) Typel Eror

(8) TypeliEmor
(C) NotCommitting Error
(D) None ofthese

Level of significance is probability

. (8)

49,

50,

51.

52.

Degree of Freedom of Chi-square in -
© case of contmgency table of order

4%3are:

A 12

B) ¢©
(C) 8
D) 6

Sum of Square of the deviations is

minimum when deviations are taken

from: |

(A) Mean
(B) Median
(C) . Mode
(D) .Zero

A shopkeepér bought 600 bananas

atthe rate of Rs. 16 a dozen. He sold
200 bananas of them at 4 for Rs. §
and the remaining bananas at 2 for
Rs. 3. His gain or loss percent is :

(A) 6.25% gain
(B) 5.50%loss
(C) 5.50% gain

(D) 6.25%loss

Value of log, (1000} is :
A 1 '
(B) 10
() 3.
(D) 100

- Contd.




53..- Rs. 2,000 is invested at an annual -

- rate of interest of 10%. What will be
the amount after 2.years if
the compoUnding is done semi-
annually ? |

(A) Rs.2,420

(B) Rs.2,431
(© Rs. 2,440
. (D) “Rs. 2,442

IfSetA={1,2, 3} and Set B= {3, 4,
5}, thenthe AunionB (AU B)is:
(A {3}

B) {1,2,3}

(C) {3,4,5}

(D) {1,2,3,4,5)

55.

If §(X) = X~ 5 then the value of f(~1)
s ' ' '
(C) 5
(D) 6
| | 12 1
'B6. Thesum oftwoMatrixA=|2 3 1
13 0 1
{0 2 1
andB=11 0 1|is
2 01
1 4 1
A (3 30
5 0 1
QS — 9A/22

59,

(9)

57.

58.

© |2

o 4
7n Bp .

.Value qf‘ 90 ' P0 is:

(A) ' :

(D)

(4% )
N -

(B) |3

N

w
-

Value of lim, xx-,_ 2
A)

(B)
(©)

A O O N

1
(B). 5
C 7

0

dx
(A) 5
B) 1

(C) o
(D) Sx

14 2 |
©) 13.3.2 . -
50 2

is:.

‘Deiivative of 5, & is:

(Turn over)




60. Integral of 6, Gdx=
A Bx+C

(B) 8+C .
(C) 36+C
© ¢

61. The oldest form of business
organisationis:
(A) Joint Stock Company
(B) Partnership ,
(C) Sole Proprietorship
(D) Joint\!entu‘re

62. The liability of a sole proprietoris :

(A) -"ii‘niteﬁ& ‘t‘o" the extent of the
cépital invested - in the
business 7

(B) Limited to the extent of value of
business assets

(C) Limited to the extent of value of
business assets and his all
personal assets

() Limited to the extent of value of
business assets, his all
personal assets and his
parents personal assets

G3. The maxir;fu;:m number of partners in
a firm for a general business is :
(A) 7
B 10
(Cy 20
(D) 50

Q8 - 9A/22

64. The maximum number of partners in
-a firm has been specified by :

(A) The Partnership Act, 1932
(B) The CompaniesAct, 2013
(C) The ContractAct, 1872
(D) The Income Tax, 1961

65. Which of the fdllowing statement is

NOT true with reference to Limited

Liability Partnership (LLP)?
(A) - The liability of some partners is
* limited L
(B) Easyto establish, manage and
un

(C) The maximum numberrof
partners is limited '

(D) Partners are not liable for the
- actofother partners

86, The maximum number of directors in
a private limited company is :
A) 2 "
® 7
(Cy 15
(D) 20

-67. The maximum number of mernbers

(10)

permitted for a Private Limited
Companyis:

A) 20

(B) 50

(C) 200

(D) Unlimited

. Contd.




68, Which of the following statements is
| NOT: true- with reference to One
Person Company (OPC) ?
(A) Itis incorporated as a private
limited company
(B) The nﬂémbér should be natural
p‘_refrs.‘(_)h, Indian citizen and
residentin India \
(C) It can have minimum of 2
directors
(D) Itmust have only one member
at any point of time
69, Which of the following management
~ functions are closely related ?
(A) Planning and organising
(B) Staffing and controf
(C) Planning and control
(D) Planning and staffiing
70. The opportunity cost‘aplproach in
human résource accounting was
introduced by : |
(A) Hekimian and Jones
(B) Rensis Likert
Q (C} Eric G. Flamholtz
(D) William C. Pyle

QS - 9A/22

71.

72,

73.

The main drawback of functionat
organisation developed by Taylor is
that it fails to recognise the ;

(A) Scalar principle.

(B) - Principle of equity

(C) - Principle of unity of command
(D) Principle of esprit de corps
In Taylor's Functional Foremanship,

the repairs and maintenance of

machine is looked after by .

- (A) Speed Boss

(B) Repair Boss
(C) GangBoss

(D) Inspector

Effective supervision is an activity

of :
(A) - Organisation function
(B) Staffing function

(C) Direction function

(D) Control function

Delegation of authority depends on

‘the subordinate's ;

'(A) Training

(B) Educational qualification

- (C) Ability and potential

(D} Social contacts .

( Turn over)




76,

76.

77.

78.

08 - gA22

The maln advantage of line

organisationis,

(A) Waell . defined
| responsibility

fixed

(B} Specialisation -
(C) Expertadvice

D) Simplicity

Whatis Repo Rate ?

(A) Itis a rate at which RBI sell
- govérmment securities to banks

(B) It is a rate at which banks
borrow rupees from RBI

(G) Itistherate at which RBI allows -

small loans in the market

() Itis a rate which is offered by
‘banks. to their most valued
customers

Which is the first bank to introduce

-credit card in India ?

(A) Canara Bank

(B) Cehtral Bank of india
(C) Bank of Baroda

(D) ICICI Bank

How many digits are there in IFSC
Code 7

A 10
B 11
(C) 12
D) 13

- (12)

79.

80.

81.

82.

Which among the following is
incorrect ? '

(A) RBIlisthe Bank of Issue

(B) RBI acts as Banker to the
Governmeant

(C) RBlis Banker's Bank

(D) RBIldoes not regulate the flow
of credit

Which one of the following does not
belong to the main products of life
insurance ? .

() Endowment

(B) Personal accident insurance
(C) Term '

(D) Whole life

When was Life Insurance sector
hationalised ?

(A) 1834

(B) 1907

(C) 1938

(D) 1956

Which is the apex institution to
provide credit facility of agriculture
arid rural development 7

(A) NABARD

(B) State Bank of India

(C) Reserve Bank of India !
(D) National Cooperative Bank of

India

Contd.




83.

84.

85.

86.

®
- (©)

(8)

(A
(B)

Lead Bank system was stared onthe

reoommendailons of :
®
®)
(€)

©)

Which method is foliowed by the
Reserve Bank of India for issuing

Raja Chellaia Corr_lmittee -
Kelkar Co_mmit‘tee -
Nariman Qommittee ,

Malhotra C_ommittee

S

currency ?

(A) Gold Reserve System
Proponionel Reserve System
Minimum Reserve System
(D) Fixed Fiduciary System

What RBI
through Open Market Operation

does

Transactions ?
(A) Flow of Foreign Direct
Invesiment e
Borrowing powers of banks

(€)
(D)

Inflation
Liquidity in economy
When the consent of a party is not
free, the contractis :
~Void .
Voidable
(C).. Valid

(D) Illegal

QS -- 9AS22

regulate

(13)

87.- A threatens to kill B if he does not sell

88..

89

- (B)

- his horse to him for Rs. 1,000 only.

Here B's consent is obtained by:
A)
(B)
(C)
(0) |
Under Section 2(2) of the Sale of

Undue influence
Fraud
Coercion’

Pressure

“Goods Act, 1930, ‘delivery' means :

(A) Gratuitous  transfer of
possession from one person to
another

(B) Involuntary transfer of
possession from one person to
~ another '

(C) Voluntary transfer of
possession from one person to
another

(D) Transfer of possession

- irrespective of whether it is
gratuitous, involuntary or
voluntary from one person to

another

‘quone on the organisation should

have more than one boss' is a
~statement of ;

(A) Principle of specialisation
Prinoip!e of authority 'ﬂ
Principle of unity of command

(©)
(D)

Principle of span of control

(Turn over)




80, Sludying {he future and arranging the
means fordealing with itis part of the
process of ;

(A) Organising
(B) Commanding
(C) Controlling
(D) Planning
91, Profit shown by ahsorption costing
' will tend to exceed profit shown by
marginal costing method if :
(A) Units produced exceed units
sold |
(B) Variable manufactdring costs
~ decrease
(C) Units sold exceeds units
produced
(D) Fixed manufacturing costs
decrease
92, If ageneral manager asks the sales ‘
manager to recruit some salesmen
ofr his behalf, itis an instance of :
“(A) Division of authority |
(B) Decentralisation of authority
(C) Delegationof authority
(D) Delegation of responsibility

93. The concept of Managerial Grid has
been propouhded by: |
(A) Black and Mouton
(B) Likert

QS - 9A/22

(14)

04,

085.

96.

(C) . Fiedler

(DY  Vroom N

Forthe success of business plan, the
goals should be :

(A) ‘Generalised

(B) Limitless -

(C) Specific

(D) Imaginary

Wh'ich-‘of the following is the most

important for the entrepreneur, while

starting a new venture, to make an -

assessment ?

(A) Risk | | .

(B) Profit

(C) Social Status

D) ‘Co'mpet'itors .

Entrepreneurship can best be

described as :

(A)  Aprocess that requires setting
up é business

(B) Taking a significant risk in a
business cantext

(C) Having a strong vision

D) A proéess involving innovation,
new products or services and

value creation

Contd.




7.

a8.

The headquarters of Investment
Information and Credit Rating
Agency (ICRA) Limited is located in ;

(A) Mumbai
(B) Gurugram
(C} MNoida

(D) New Delhi

SMERA is a joint initiative between
(A) SIDB! and Leading Public
Sector Banks

(B} Dunand Bradstreet Information
Services India Private Limited
(D & B) and lLeading Private
Banks

(C) RBland SEBI

(D) Both (A)and (B)

089. Which one of these is the most

100.

important external factor governing

recruitments ?

(A) Sonsof soil

(B) Labourmarket

(C) Unemployment Rate
(D) Supply and demand

Which of the following refers to the
process of identifying and aﬁracting
job seekers so-as to build a pool of
qualified job applicants ?

(A) Selection

(B) Training

(C) Recruitrnent

(D) Induction

BRI HEHAEDREERN
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